® 300wcm? @ 3207cm? @ 340mcm?

@ 360mrcms ® 380mrcms



sholat,

27

ohe 19T g AR BE £go] gye]

2.

e

CIIl3



@ 216cm? @ 218cm? @ 220cm?



@ 5cm ® 6cm @ 7em ® 8cm

@D 4cm



5.  F17}125zcm® 0] 5017} 5em Q1 Y7150 By ol=?

@ 80rcm? @ 85mcm? @ 90mcm?

@ 957rcm?2 3 1007rcm?2



7o 74715 0] 7} 120em® & uf, o]

e
M i
op o
oA




7.

the 125} o] £ A8 WA moFe] 1
o], x o] 3L Fatolat,

B e

Nl



)
oL

=




=0|7} 6em
w o o] Hhz] 2 0] Zo]i?

@D lem @ 2cm

3) 3cm

o] Y7159 Bul7t 96rem? 21l T

@ 4cm

3 5cm



® 168mcm?, 1547cm?

® 168rcm?, 1227cm?

® 153mcm?, 90mem?

aﬂ%mz%ﬂx%z atel 1 2117
AHolg 747k Fote?
!
o
jcm |
2cm
N

@ 40mem?, 907cm?

@ 40mem?, 1547cm?

[e)

2=



H2 old A= o] H/joltt, BAE PAQ, RSD A
= /SRD = 120° °|1l, ZAZ-y ABCD oA M, N 2
o] ZFoltt. AB = 8cm, AD = 3cm & uf], o] 4A|9]

@
S

=
Z - =
>
mU \;@
5




2cm
2.5¢cm
/,:\40 /: r2¢
/ I
0! |
|
6c¥n: ! :
ool
\pem/
@ 12cm? @ 18cm? @ 36cm?

@ 48 cm?® B 72cm?



13. o= 2" Zol 2 7f9f A5 I A, B o #2 49 =°] 501
At} o] wl, x o] Fr& FSHAL

/6Cm\\



S

dyolg Fotofet

=3

X

o, 71

cm?



15. o= 2% 22 dAE=F FuE An, 2HolE

E @H

B+ Cnttal &
o, B+ C - A 9] & Fotoizh




